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A AMS FOME BOUSH(LUNITYT /YY)
Sl ASENEE 29 (B9 @2
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES = T BlRE2
= 536,217 401,070 135,147
HUS FOIME HOSH(UNTIHT/LHT) 396,960 266,920 130,040
NEIZOI#E 29 255,960 205,920 50,040
oy X 138,920 138,920 0
202 OfHl 2,000 2,000 0
01 =0l 2,000 2,000 0
=0 &t 2,000 2,000 0
OAn= sl &4 20,0002 *10% *43] 800
OF2 XXM HX O
60,0002 58 +22! %23 1,200
01 YprEaz 136,920 136,920 0
05 SX-01F - HIHSBHI 134,620 134,620 0
=0 134,620 134,620 0
OO0IZ(EF) JI24Y 200,008 +39% «122 93,600
OOIZ(SH) 4012 200,002 «39% +23] 15,600
OO0 (SH) slo&a =g
20,0002 *39% x25| 128 18,720
oBrE st 25,0008 *134% *23] 6,700
09 BAAHIEAE 2,300 2,300 0
= 0 &t 2,300 2,300 0
OAZDS, MOIL S BAT 24
10,0002 502 +23] 1,000
ONBZZ A S BT 24
10,0002 262 *53] 1,300
X2 SHA (21 E 010 4) 100,000 67,000 33,000
201 Yur2YHl 15,600 53,000 A37,400
01 AtR2teltl 11,700 14,000 £2,300
=0 4t 11,700 14,000 ~2,300
O 2 P DS 1,100
- DS UME 300,000 #13] x2% 600
—- D% DN S 500,00021 * 14! 500
O USsE 82 Do 2% 2 L2
= 1,960,000 *14} 1,960
O U2sIE g2nd 2R
120,000 123 1,440
O URsIIE Q2ns 29 2 A2E
d 50,000 *123= 124 7,200
03 A2 Y| 3,900 39,000 £35,100
=04 3,900 39,000 £35,100
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O TH2EIE #0FI| HRSAT At
4 10,0002 %5235 *20% 10,400
307 9120l H 9,000 0 9,000
12 gltelsle DYl 9,000 0 9,000
=0 &t 9,000 0 9,000
O U2y 2208 29
300,000 302 9,000
401 ANZHIL LY 65,000 0 65,000
01 Al&HI 65,000 0 65,000
= 0 4t 65,000 0 65,000
B s x4 08 FHY
10,000, 00021 * 14! 10,000
O S& AR BABY =4
15,000, 0002 * 14! 15,000
O BT ALY &3
11,000, 00021 «22 £ 22,000
O M0 SHSI| $X DLAE LK
2,000,000 *97H 2 18,000
ZolFO0 N 29 5,800 0 5,800
201 Yur2Yyl 5,000 0 5,000
01 At el 5,000 0 5,000
=0 & 5,000 0 5,000
OFOIMASIBS &5  100,0002 «20% 23] 4,000
OFQAFOOIA AA 23 (B S ME)
1,000,0008! *14} 1,000
01 YprEaz 800 0 800
09 AR A 800 0 800
= 0 & 800 0 800
OFQFOGA BT S2i2) AU
20,0002 %208} x23] 800
ZOIXA 2 HEH 29 11,240 0 1,240
201 Yur2 10,320 0 0,320
01 At eyl 10,320 0 10,320
=0 & 10,320 0 10,320
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OFQRXME Z218 29|
300,000% * 128 3,600
301 LEtBAE 920 0 920
09 BAAHISAS 920 0 920
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OFQURX LS S SFX A3t
40,0002 +23 #13] 920
MEORHE L ARD FRANY 141,000 61,000 80,000
MEB2H HAAL 30,000 30,000 0
401 ANEHLL0Y 30,000 30,000 0
01 Al&H] 30,000 30,000 0
= 0 4t 30,000 30,000 0
OFSH 213 AL A
20,000, 00021 * 14! 20,000
O=gns €2 57 Fy|
10,000, 00021 * 14! 10,000
ATD FOIL AL (01 E 010 4) 111,000 31,000 80,000
401 NEHLL0Y 111,000 31,000 80,000
01 Al&H] 110,600 30,720 79,880
= 0 4t 110,600 30,720 79,880
O%= ot =8 2 |
13,000, 00021 * 14! 13,000
O89S M2 TYR A &X
23,000,000 *14! 23,000
ONZEZQANI BAE £
500, 0002 * 1074 2 5,000
OZHIZ €2 =7 42 &%
30,000,000 =14l 30,000
OMaI| SHET| BT CCTV &
3,200,000 *37H & 9,600
OMMZD F2 & BE=22 Fy|
20,000, 00021 * 14! 20,000
OMER oHd XBAE X
5,000, 0002 %204 2 10,000
03 A& HYI 400 280 120
=0 4t 400 280 120
O S48 272 FOUSANY ALRHYI
40000021 * 14! 400
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SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
HESHAMI(MAS)(IIEHDIIE 139,257 134,150 5,107
oA A 29,497 30,690 A 1,193
oleg 2A | 29,497 30,690 A 1,193
101 ol H| 29,497 30,690 A 1,193
01 B4 29,497 30,690 A 1,193
= 0ff & 29,497 30,690 A 1,193
S ETEEPS
10,299& 12 17 Al 2t x 128 25,212
OAZIIZ 2L (A2 H| 4
10,2993 x2H »4 A| 2+ %52 4,285
Jl2& bl 109,760 103,460 6,300
DR sl 109,760 103,460 6,300
201 B2 A Y| 63,400 54,400 9,000
01 At el 32,400 32,400 0
=04 32,400 32,400 0
OANRES 7Y 30,0002 *14H x12& 5,040
O=AESA 7Y 22,000& *202 A x12& 5,280
O=AI EH 8 7Y 220,000& *2CH x123] 5,280
OZgle EYH 8 ¢ 180, 000& *4[H *73] 5,040
O8I 8 91z 25,000 x5CH x12& 1,500
OANEEE &9 M 100, 000& *233] 2,300
AR E20HAH]
8,000& x14H 52 x12& 6,720
O=s A, 22y =&8% X4l 103,300& 122 1,240
02 324 31,000 22,000 9,000
= 0ff & 31,000 22,000 9,000
O&IIANES 1,300,000& *12& 15,600
QOudtx=T AIE= 200,000& = 12& 2,400
OsHae3 80,000& *123| 960
ORERZ 500,000& x123] 6,000
OA&E&EH X4 300,000& «12& 3,600
O&ESxE A=Hl 100, 000& = 12& 1,200
OoO&ESXE =837 XYl 101,000& *123] 1,212
oS s ItHAl 28,000& 13| 28
202 044l 35,100 37,800 A2,700
02 XY 35,100 37,800 A 2,700
= Ol & 35,100 37,800 A2,700
OE AN 225,000& x13H x12& 35,100
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